SIR PRATEEK JAIN

. Founder @Physicsaholics

. Top Physics Faculty on Unacademy (lIT JEE & NEET)
. 8+ years of teaching experience in top institutes
like FIITJEE (Delhi, Indore) , CP (KOTA) etc.

. Produced multiple Top ranks.

. Research work with HC Verma sir at

IIT Kanpur

. Interviewed by International media.



<& NEET UG Educators Overall v

PLUS [[ele] | lold

5,
w Prateek Jain Following India's Best Educators

%‘ Dr Amit Gupta

5 )
.‘:i b Ajay Mishra (AKM) & Follow

‘% Ramesh Sharda Follow
ﬂ Shubh Karan choudhary (... Follow

Interactive Live Classes
Structured Courses & PDFs

Live Tests & Quizzes

HYSICS

24 months ¥2,100/mo
+10% OFF 3

18 months ¥2,363/mo
+10% OFF ¥4

@é Pranav Pundarik Follow
@ Sandeep nodiyal & Follow

6 Dr S K Singh
Q? Shailendra Tanwar Follow

12 months ¥2,888/mo
+10% OFF ¥34,6F

6 months ¥4,200/mo
#10% OFF ¥25,2C

P _ Use code LIVE to get 10% OFF on -
& sovrovxumer el Unacademy PLUS and learn from India’s Top i
Faculties.




§3) suBscRIBE

0O ®

@NEET-Physics
@Physicsaholics =~ @Physicsaholics_prateek @I TJEE-Physics physicsaholics.com Unacademy

® @ @ (@R (@R
CLICK

Links are also in the description of the video.



https://www.youtube.com/channel/UCRwRoH5KjBrkkSIhS_UoJlw
https://www.instagram.com/p/B_Yl0gnBfsz/?igshid=krndq8sjbj5p
https://t.me/NEET_PHYSICS
https://t.me/IITJEE_PHYSICS
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain

For Video Solution of this DPP, Click on below link

Video Solution . . .
on Website:- https://physicsaholics.com/home/courseDetails/70

Video Solution

on YouTube:- https://youtu.be/kelBAeYFAuw


https://physicsaholics.com/home/courseDetails/70
https://youtu.be/kelBAeYFAuw

NEET & AIIMS PYQs
Solutions

Vernier Callipers,Screw gauge
By Physicsaholics Team



Q) Asscrew gauge has least count of 0.01 mm and there are 50 divisions in its
circular scale.
The pitch of the screw gauge is :

Z.c.:

\o o} O‘;Viﬁl'(!\r\o NEET 2020
(1075 mm Phke L yono\of dithinn,
(2) 1.0 mm — OIS
(3) 0.01 mm )

=S 0mm

(4) 0.25 mm



Ans. 1



In a vernier callipers N divisions of vernier
scale coincide with N — 1 div of mam

scale (in which length of v1sx%1
1 mm). The least c @d e instrument
should be N pm

(a) N %
c\




Ans.(c)(ﬁw'lj)a;u\fw N \UW'J



PYQs on Following Subtopic;

Error




What 1s the fractional error in g calculated from

T =2n \/ (/g ?Grven fraction errors in T and |

are £ x and *+ yrespectively?. Aums [2012]
(@ x+ty 95 (b) x-y

&
(©) Zxby 9- i (d) 2x-y
d SN RN




Ans. (c)



In an experiment, four quantities a,b, c and

d are measured with percentage error 1%,
2%, 3% and 4% respectlvely Quantlty Pis

31.2
calculated P _ab %, Errorin P is
e § ed , [NEET2013]
@) 1% L1 (b) 10% .
©7% STl ) 4%



Ans. (a)



If the error in the measurement of radius of

a sphere is 2%, then the er x he
| determlnatlon of volu {& %h re

will be |

[CB AT 2008]

®@. d) 2%

(@) 4%



Ans. (b)



Assertion : The error in the measurement of
radius of the sphere 1s 0.3%. The permissible
error in its surface area is 0.6% ~ #= 1%

/ Sxyerm A=

Reason : The permissible error 1s calculated by

QAQ_ AAT 008
S Alms [ /

2 Q/. Y oY WY)

the formula

(a) If both Assertion and Reason are cerrect and the Reason is a correct explanation of the Assertion.
(b) If both Assertion and Reason are.correct but Reason is not a correct explanation of the Assertion.
(c) If the Assertion is correct but Reason is incorrect.

(d) If both the Assertion and Reason are incorrect.

(e) If the Assertion is incorrect but the Reason is correct.



Ans. (c)



. The density of a cube is mms ed by
measuring its mass and | ‘:’ e \ f its sides.

If the maximum error in p,. rement
of mass and len %0 ar
respe(,tlve,lv 1m or in the

measuren@ (io@%’i ﬂ! be
[CBSE AIPMT 1996]

(a) 7% # (0 12%  \(@13%

@ ~€mww =4 +3<3-/,):




Ans. (d)



The percentage errors in the m surement
of mass and speed are 2% @

respectively. The error 1 ergy
ass a @&@%ed

obtained by meas%%

will be
(a) 12% -‘ ‘

@]oo)(%\ﬂ-t -i So¥e o)




Ans. (c)



A certain body weighs 22.4

2 g and has a
measured volume of 4.7 cc%’@ossible

error in the measurem t%g

ass and
volume are 0.01 g CC. &1\@%

maximum erro dens

(c) 0.2%

/ Goverm \
(a) 22% @%%@%, “

ill be



Ans. (b)



occurred in the measurement ysical
quantities A, B,C and D arE@‘m %,%3% and
4% respectively. Th %& ,

axi$@
percentage of e% e ement X,

' In an experiment, the percentag§ of error

i

where, X %g : wi . ‘.!\IEET 20:19 :
@ D %% <€) %@f*g(“)- |
(a) 16% S Wo i I(C) 1!%1 i (d) (9_)%

it (RS




Ans. (a)



A potential difference V = 100 + 5 V, when
applied across a resistance éé a current

I=10+ 0.2 A. What is the perce € error
o A

in R? =
(a) 2% (b
X4 = /




Ans. (c)



The density of a cube 1s measured by measuring
1tS mass and of 1ts sides. If the maximum
error 1n the measurement of mass and length are
4% and 3% respectwely the maximum error 1n

__V"\/

the measurement of den/sny will be [2013]
() AR (b) 9% AlIMS

2 /smm W S 3(7 Sovov i d

© 12% T Ul 13%
=%b 13/



Ans. (d)



The least count of a stop watch i second.
The time of 20 oscillations of 'a pendulum 1s
measured to be@econd. The percentage error

1in the measurement of time will be [2015]
@) 8% /ey \ (’b) Ls% L ims
(c), 08% =1—=xes  (d) 0.1%




Ans. (c)



A force F is applied onto a square plate of side
L. If the percentage error n determining L 15 2%
and that n F is@ the permissible percentage
error 1n determining the pressure 1s [2017]
(@) 2% V=- (b) 4% AlIMS
(€) 0% Jgiwvi 7 d) 8%

B e A AN

=Gt <z )

< 4 /




Ans. (d)



Assertion : When percentage errors in the
measurement of mass and velocity are 1% and

2% resp 1vely, the percentage error in K.E.
is 5% = 3L

Am
Reasgl% A + — T12anms [2010]

S
\_/
(a) If both Assertion and W correct and'the Reason is a correct explanation of the Assertion.

(b) If both Assertion and Reasofiare correct but Reason is not a correct explanation of the Assertion.
(c) If the Assertion is correct but Reason is incorrect.

(d) If both the Assertion and. Reason are incorrect.

(e) If the Assertion is incorrect but the Reason is correct.




Ans. (a)



Assertion: In the measurement of physical
quantities direct and indirect methods are used.

Reason : The accuracy and precision of
measuring instruments along with errors in
measurements should be taken into account,
while expressing the result. Anmsf2017]

(a) If both Assertion and Reason are corfrect and'the Reason is a correct explanation of the Assertion.
(b) If both Assertion and Reasof arecorrect but Reason is not a correct explanation of the Assertion.
(c) If the Assertion is correct but Reasen is incorrect.

(d) If both the Assertion and\Reason are incorrect.

(e) If the Assertion is incorrect but the Reason is correct.



Ans. (b)



The percentage error in measu& M, L and
P

T are 1%, 1.5% and 3% res@ y. Then the

percentage error in measuring t hysical
quantity with %i%%&s ]@& 1 is

(a) 1% X‘%“ ég& %

(c) 3%@%:‘/‘“@&@ d

)

@@%}M I

J/S.S% AlIMS 2018



Ans. (d)



PYQs on Following Subtopic;

Significant figure




The length and breadth of a metal sheet are
3.124 m and 3.002 m respectively. The area of
thls sheet upto four correct significant figure

[2001]
(a1/93/78 m? (b) - 9.37m? Aums
(c) 9.378248m? (d) 93782 m?
3124 X3 66
£\ &
DD
137 2 6 % j:

j.zj_g,k;_{ué/

e

———



Ans. (a)



Assertion : The number of significant figures
depends on the least count of measuring

instrument. @ V)23

- ' . | t%\.MBX_MIZ
Reason : Significant figures define the accuracy

of measuring istrument. anms [2016]

(a) If both Assertion and Reason are correct andthe Reason’is a correct explanation of the Assertion.
(b) If both Assertion and Reason are correct’but Reasons not a correct explanation of the Assertion.
(c) If the Assertion is correct Hut Reasan-is incorrect.

(d) If both the Assertion and Reasan are Incorrect.

(e) If the Assertion is incorrect-but the Reason is correct.



Ans. (b)( wrong )
Correct answer IS C.



The mass of a box measured by a % ocer’s balance

1s 2.3 kg. Two gold pleces 0 20 15 g and
20.17 g are added to @’ the total

mass of the box a i% erelﬁ% e Masses

of the plece ificant figures?




Ans. (b)



Q) Taking into account of the significant figures, what is the value of 9.99 m —

0.0099 m?
9 9900
0-0099 _
9380
(1) 9.980 m 2
(2) 9.9 m
(3) 9.9801 m

(4) .98 m NEET 2020



Ans. (4)
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